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7. e the appropriate answer.
o uarbondxoxxdeexungmsh

) : an, the (2) a,the

g s
s Choose the appropriate answer.
At university I learnt how 0 be

(1) the,a (2) aa 3

9. Choose the correct form of the reporteds
The captain said to the soldiers, “Don’t fi

(1) The captain told the soldiers not tg

(2) The captain ordered the soldiers not

(3) The captain ask e soldiers nott

(4) Thecaptain s@to fire only after,

10. Choose the comecf form of the repor
“Haven’ twemet before?” The

.‘2

11. Choose the correct founofﬂze verb
’ 'Mumh hiswork yet.
(1) hasn’tcompleted
(3) hadn’t completed

12. Choose the correct form o
The student

(1) Awarding
(3) Awards

13. Choose the meaning of the underlined phrase.
Engineering graduates are dime a dozen today. I want to employ an arts graduate.

(1) Uncommon and worthy (2) Worthybut common
(3) ‘Common and worthless (4) Veryrare

{4. Choose the meaning of the underlined phrase.
Ravi just plays the devil’s advocate. Don’t take his opinion seriously.
(1) Debates for the sake of argument
(2) Debates for the sake of peaceful settlement
(3) Isanefficientadvocate
(4) Isanadventurots person
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who grows in technologically
Id’s mental growth is entirel
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35. Therate of simple interest per annum to be taken, so that an amount becomes four times to

xwprmcxpal in 21 years is
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39. [fthe sum of the first n terms of an arithmetic progression is 7n2+2n then the sum of S

third and fifth terms is

w8 BoEESS" BnsE Nbme Indsn 7n2-i-2n woxd, & F46% RurdS HBoko 0&F
Sore 3udo !
(1 75 2) 120 (3) 102 (4) 12

40. 3 of 36+(7+83-5)+5(3+2) -1}~ 7] =

365" 7 80% +(7+8(3-5)+53+2)~1}-7] =
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(2) 90

55 0f 20 boys, a boy ate 25 chocol
others is one less than the average
of chocolates eaten by all is

(2) 6

B
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abc—-adcb-c

(1) dbdb (2) dcba "r(n dabe
57. abcb-acab<cbe~ab-c N R
' (l) caba (2) baca 't(3) abac (4) ai

58. Ifthe letters of the word given below aremﬁmnged o form a meaningful
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62, Rmimzom towards South from h
th _‘., Then atthe end if she goes 5 km toy
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mrelmdmd\ewomzmas
(1) Brother

(3) Maternal uncle

| o8 $HDAED Sosabe I, “edis
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(1) Fsss N
(3) Jossrss @‘» .
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- 67. Mahesh told Manoj “Yesterday | defeate
W gmndmother” Then the person defeated!
(1) Sen
(3) Brother
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:6"9,, The letters that represent the artists whq“are nexthe; \tISts nor doctors are

Eeedod’ pyddor, 3dser 5 ;B2 :3? 06 ©EGSn e s
(1) AB @) AL “B,G 4) LH

70 The letters that represent the artists w :r-?" dancers as well as doctors are
Eosdhos

VTSR Sbats Sbfor soss8d Srood w¥Soes
(1) AD @) cANS W@ ep (4) GH
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(1) 15008 [Tessdon

(3) I Smgd eiodsiges

f &.Gwen below is a statement followed by tw
- onthegiven conclusions. N

Statement: “Fortune favours thebﬁv %
Conclusion: I)  Risks are necessary for success.

I Qoﬁggfds die many time before their death.
(1) onlyl follows N -~ only Il follows
(3) either Ior Il follows - neither I nor I1 follows
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) Same for both the bodies |
ﬁrm}; Fod J&dvon 25kg, 35kg N
3&*06‘&) By B %
(l) 35 kg 188508 Ho S0 § §q

(3) Bods SnHos: ﬁmfm

77. Which ofthe following 1iqu:ds expandsnn cooling from 4 °C to 2 °C?
(1) Water Q\ (2) Benzene
(3) Ammonia liquid (4) Chloroform |
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A block of mass ) kg
block in Joules attha

0 7 (2) 19.6
- Assertion (A): Cricketplayer pulls s

otl and (R) are e oorrect explanation of (A)
2) Both'(A) and (Ra)@n true but‘(k;j ' the correct explanation of (A)
(3) (A)istrue but (R) is false P
(4) (A}’ falsebut (R) is true
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ctures present in Dolphins enabling them to inhabit at partict

(2) Floaters
',_-(4)' Tail

(2) 3‘606'0.:
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101. Match the following:

List-1 : Lnst-n" (\
A)  Sulphurdioxide ) Catamuc converters
B) Rhodium ii).; - Global warming
C) Ozone depletion i) Acid Rains
D)  Carbon dioxide Montreal protocol
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(2) 7 6‘0"05)95)63
(4) ©ID DG

3 ‘haﬁ uu’&é o
(2) Kuso

Battle of Plassey - 1757
Battl&ofBuxar 1864

b ago - 1757
556 afago - 1864
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nanner by the rulers of Vija
(2) Janmastami

(4) Mahanavami




L

;‘Qﬁﬁéx‘.béx

- e - A
@)  Betmos \é .
b) Dezoch > ;
c) 85 wog ed i) O8%onSed
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(1)  a-iv, b-ii, c=3.>d-m - (2) a-iii, b, c-ii, d-iv
(3) a-, b-;ﬁ, -iv, d-ii (4)  a-iv, beiii, c-ii, d-i
123, Ther.uamtSabhaunderthepremdentshlpofMahamGandhlplayed aleading rolein th
(1) Agitation of Nellimarla Mill workers (2) Agitation of the peasants o ‘
(3) Peasants movement in Bardoli (4) Satyagraha
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Which of the following isw:ongiy
(1) Partition of Bengal -
(3) Gandhi Irwin pact - 1931
§0B Rt SNy wEBODSE D87
(1) Bormrd dzad - 1905

(3) mod - /S ndyodo - 1931
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'.35 orasoendo - 1942

6. Rabindranath Tagore gave up his .. Tols u pod because of 3
(1) Jallianwala Bagh'l'xagedyﬁ (2) Brutal suppression of civil dis¢
(3) Execution of Bhagat Si © (4) Chauri-Chauraincident
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_27 Arrange the following events in the chronological order
i)  Cripsmission ii)  QuitIndiamovement

ii)) Individual Saty: 1v)  Augustoffer x
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139, The highest peak in Eastern Ghats

i (1) Amnnudt )
( | 4)

| dr&;) §:&;Swe5‘ 28 #pdo

- '(1) P ()
{3) é*ma @

33-A

Bé

as “Sunrise Industries’.

AandB

Information technology -
Textile Industry ‘
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inister after VP, Singh
| ) . | (2) Charan Singh
(3) Raj Gandhi (4) H.D.DeveGowda
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(4) 1.B.Say
(2) BSy 3855
(4) 2.0 %
(2) Demand
(4) Distribution

gZ) &dsos
(4) Sobeb

(2) JamesMadison
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@@. K 2014

3 6§lwb 2014

- ii)  Vishwambara
iv) Kanya Sulkam

i)  JFowsdres
i) d¥owss

i) Sodsaso

V) Ssgboo

(2) @i, b, coiv, dii
(4)  a-iii, b-ii, c-i, d-jv
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a-i1, b-iv, c-iii, d-1

a-iii, b-i, ¢-ii, d-iv
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(2) estsanod wrdgd
(4) p&S

. The second woman Prime Minister of Britain
(l) Margaret Thatcher (2) Margaret Elizabeth
) Theresa May (4) Angela Markel
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fa ~ Joan of Arc
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183, The Malayalam film that was awarded ‘The Best Children's Film® at Berlin International
‘Film Festival 2016 is
(1) ManuUncle (2) Howold Are You?
f (3) MyDcafKqumn (4) Oual
2016 BYS RobBESE HE, VRISS' 4 oo Do QoLRS Sovaird Ogo
(1) $H% wokhd Q) = g ub aw?
(3) D BoRb sogf DS (4) L4s
184. The first woman climbed the Mount Everest in the world.
(1) Mrs.Bwhendmpa! (2) Louise Frechette
(3) Mrs. Junko Tabei (4) MariaEstela ’
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(2) Pyons

iii) Greece
iv) USA
v) Poland
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